\ -, Downloac’éqmtﬁ)bm Wmﬁﬁﬂlﬁstoday.com

({ass X
(habte- 1,2, 3,6,8,14
®l iy Show  that O.'NJ 'F%LJOVUL odd undeat s
B 8%-%3 B Bc\'+5 ™ B«L—r_\ whmeq,
| i Show ot ihe Squose 9% Om,y 'F%\hm. od.d an{z,am i 9%
the ﬁemm B+ | {G‘L dome mkeam m.

| 92~ Find ihe aaeo:‘cujc uu\’ccam ka m dxmdm% 398 . 43¢ and
5% Leawes e fomoarndes T, and \S }{u?e,chuwd

0 Aing Sundomertal. Jhiovem of - dubmetc ,%mt e HEE of
%, 5 ad A

&4 - Jhe HCF ond Lem
910 one  mumben U U5

9‘% the %Wm B\,

W deme m{eﬂeﬂ,

9}) fwe mumbets axe 4 omd 360 m):ec.’cwdﬂ.

MUke  the othwe oumbes

855> Jouve 334 53 & wwatienal.
@f_’) Check ahe then Bl oshos o +mmno\1:m8 decimal t‘n]bml'ﬁn B

| :
0 nen — i%(«)mmo.u;na M«Fea:h‘ﬂg de,wmaﬂ. w})umle‘n .
will texm-

8- e dweomal exMien% wawenal mwnbm)-%a
inate O-L%ex fow momy '])lauA QE decimals?

8-> Wue e J})obd'nomxaﬂ e ?deuc)c omd ms% urﬁeoe ZOL0e)

ane ‘3 and -3 .
5

93> EVB ene zm&ef) Tﬂbgnommi P('x,) B = Byt + 2k 4) B Awen
tme  ihe othec, then atmcl. the  Zewe  ond  value Bg k.

Q100 Find the zolot Bili OLuadHrmc n!mruaﬂ B =% <Bw ond
e Vw%\ﬁ the  swlation )) behoeen ’chc ze}wu omd  fheit w%tum’w

Downloaded from www.studiestoday.com

]




Q1> Fn whoDownleaded {fromyww studiestoddy.opfnomidl
%™ - 2e- (P +3)? -

o - 3{ X 5 ﬁ v Y axe 2w 9% wbic Jquﬂnomtal b+ 3oc*
- J% =l  4hm %\"nd. the Vdﬂuf,BE Of-\-\-@-‘-a- (q‘

(?_,\_'.3"9 mG%\dl that l,). 2 \v—)‘ e YTuow B% abic /t)g%homiai ‘
Doe® +2” - 5e +2. Mo veufy the oldationchid  behween the
2owu  ond we%\‘dmﬁ

O Wuite @ quadwabic 'Folxdnonu'aﬂ whote 7o0e oxe L+ V3
ond  2-43. |

)5~ Qi\n emmf\u v{) ’Po&dnomm% F(ﬂ : 3(%), g() and ala)
whith  atisdy the  Divisin Alqauitien  amd
i) deg pb) = degale)
Wi/ c\,e_% q{(m) = ol,r_% Hx )
(W) dey ST =D
bg - 6}‘ the  polynomial ot - 3t +5u+3 b divirible by ot -2 the
pemaundee u o ax ¥b o Whab will be  the quotient? Rl Jf)incl
e valuw 9‘% 0 oo s
4> Fimd the \)cﬁh,uef) 0" 4o that the \Poi'n’c (3, a) Lu o bhe |
Lime Jktpnwm'\;&d btd lx - 3'-3‘-5.
0g-> dolve the ‘Eou,owffﬂ% u&%djcem 9% ¢q uakions %m}h‘mﬂhﬁ:
2l =1) =\ﬁ and sc,+3\d =15
Alus . %\'"nd,_ the  Couvdimades B{) Hhe Y)om’u whee e dmes meet
the  awia 9% Y
09 - {HM.FNC&QQA& , dolwe the ﬁolbow'mg ',A,d&gm 9% 0quations:
L\'OL—35'\'LF=Dm\d, L\'}L"\'B\d-lozo .
Fund  the  area 9ﬂ Aegion  bounded b‘ff theue e ond the
X~ AWM. '
Downloaded from www.studiestoday.com




| equodion s im conautent
b, % Bl = R =
PRYES S T _
@2 > Fund, the Vol BE ‘@ ond ‘b Jg which ne oUnwi'na P&m

,ﬁ > @&’cummeDQWnlmﬂdedsﬁ‘rc'jfn wovwsstugiedko ay:gon,}’m e{) &'maa, 1

% Ymeos equations Pas om \"n%\'mih, numbes, 5‘% Aoluctioma:
I A + ‘
(o-b)x +(o.+\9)3 = da~+b-2 J

@_2?:"\/\.&”\3 s - Whgm °mdwh0d, wle the %Uu)o\m"ﬂa )P(uh-BE Eft\lthm
ar _ by = axb
ASECEE
an - b\d = 2ab

Q23 -» &)Lup, the %olbow‘ma )FU.M, BF] {lmmx, eqluahm\& ﬁe& 2 ond y
| L\—lac.-\-'?:\&’GB-
) n = ‘ﬂg =I5

@ Bolwe  the %UUDUJi*% 1)&»«9{) {imean tquakion bd (M8 - mulﬁ’P\icaﬁm.
method bra - .Q‘j-la - ab(a~+b)
O b
b> % -01&3 = 2 bT
025~ A man Lold o Fable omd, o chair bawm %m Te50 ot a
QMA_ 10’/ on the table and a 801':1\_.9’% 10°. on the choww .
B»UL Ae_l)_hmﬁ %m‘%ﬁcﬁw«, {0& Fa5p. he would have made a

%Qﬂn 0 e dhe I-l;a,b\e amd a dey Sﬁ o] on bhe chauic.
Find the Gt j)m e%each.

8¢~ A mon walks a  cwdoin dotomee with a wdain eecl. Y he
Wwal ke l,x. Ren o hour {Mﬂﬂ ,%\e, fakes | howe bas. Ru \'f) Be

Walks | km  am Aoy slowet, he toku 3 boawts mewe . Find e
distomee  covested) e mom amd Rl puiginal  sate 9g walking.

Downloaded from www.studiestoday.com |



= the dﬂgmboaégedafmquamaa%d'%*aﬂa%\m& each o’rh\\l

ot Dot 0 Asuch  hat P\O =
P - Do - fhow that RBD U a mePzzmm

Q8> 9w the Udﬁlﬂ%m'\\a %\au}u dduunme the. valiee 9{ X,

X =5 \ | ‘
V. ) o g
O;P,\‘\ ‘h‘,, \ ]

A B

- 4 o 0 ABC u‘,g DE |BC omd BD = (& , Prove that t\HBc

‘B wosedu.
030> 9n  the g\au}m DEFG1 U & Aquare Cmd LBAC = 0" SAow that
DE* = gp XEC, ,'/
el |
W v/
3_ ,,,,,, ‘:‘:GT__F\

(D/BHPQ?\ the |'au.u,z,,_ ARBe & 9led at ¢ ond DE L Ag.
%wve that DM C ~ pppE omcl ﬁma %’hct ,Qenabh BEP\E and De.

| i
I
f 2

@ Lidy PR and AL and  Tredgm P\D% d D BRC aue Pmmhonai

o the widu P@ and PR Land medion pm a APR . Puove hat

ARBC AP 4 You' N em .Jh,(dml: who cotild  wWomk oyt Hm
o =4
ol Qﬂk. and Fthm wk ouw o chare with them, wﬁ\ alue 6;

.5 oy wl you e lain the Pn’” ﬁfhm
93 > Vo dum.nd\&, ABc ond DBC que Of\xﬁd'.‘e dome hose BC gnd en

dome Alde 9{ BC i whitnh LA = LD = o S’é CA omd BD meet
tach othet b E, show ‘thot AE- EC = BE . ED
X .

“Downloaded from www.studiestoday.com J



&:gj_“’ M ’&‘(&\ULDQWOM fwamuWwW§BtUdie}sﬁmﬁMy.¢®rﬂwe Jdde Re
/ D MRC oand T divides the buorgle into o bouk % equal axeas.

fove that By = Y2-) e
, AR =i i ~
A Yy C.

@35> M the ﬂu}b&,M 7 "mid—?oiﬂf sde CD a J)auaﬂ&og{xm‘ﬂ
- ABeDd, dhe {me BM U dwawn uh’cwec}:ma Ac a.{:IE ond AD ]);wduwd

0t E. Prove bk EL =281 /\ i
. - b . \ M -
//)/ |
: _,/
B

C

B G ARse i AD & he medion | dhow thak
ABY + Ac® = 2(Ad"+BD)

0> A btu;a;Ule, ARC i gught- ana\ed ok B. Aide Be i tudedsd at
Poinks D ond E. Proue m BRE = 3RC +5AD”

(8> ABc & o buosgle , Wght “ongled ob C. Y i the  tugin of
. M)gmdmdwu sem - C fo RB ogwd M=, , BL=w ang (A= [y ‘
how it 1) pe = ab and iy L =1 o =
631 5 fuove thot the aven 9€ om ecludo,l:eml thcnale on the P\dpo%enm
o wﬂhi:—ana\ed bu‘a_m\c B equal 1o the Jum gg asteas 0{
equil akestal bﬂmﬂa\e& en Nt e two Aldes.

M Y wueh =3 *Jﬁ""“w“’ Vaﬂuw{) E\ﬁ 4 SmA

[+ R

W ¥ Sete =k, find the viue o Sei® -3wo .
' SAMP 3w
(G2 Qawode’ NgimTo  _ u e 53 cetec 31
| 1 w0 T +em s’ tan 35 4an35 temIs”
Q43 Without wwng buidonwmbmd tables , euduate
() w58 . aindy 3B cawe5)
$in32" Dotiinf8aded troth WwwdStudiestotay!tomss




Gy % e Dnlogdad o, wwStydiRsiagar eI v o 53'4N
3 -
Quy-> @E AnQ +amQ =1, dhen Pﬁoue P+l <17
45 ¢y (Wee A +4amA- 1 ) (beP —4om R 1) = Jdenh-D
iy (1 + bP - caecp) (14 fomP + 4och) = )
Gl ket — S B B0 - |
L' - O
@ wnp « et = (sm) twd) (- tin0Emed) -
V) i
"'CMH*AQLF\ | g I—tanﬂ
fon P - gecp +1 CR

.@\16—7 5’& +Cm¢) —\-Am@ m  ond ‘I:Cm(]') ._gm@ =a L, dhen  show thet
m* - n” =k fion.
OB Gdude:  9™20 4> 107, 2 ec™58 — 2ot 5% fon 32
Qeer50 — cotPuo ~Ltomlz ton37T Fon¥s tem53 tmrn
W8~ The meon B:ﬁ %OUpqug :ﬂuq/umuj, diiibution 4 51-¢ ond
te  dum o{ obsewatons 4 50. Find mw&m& {%UL\UBQCLM g. Ohc\ﬂ

CLaM !0*1_0%1 20-%0/‘10 50 ;! éo ”51) ' BO-lo IOO—DO/
sfpsisag ] ey i R )
04> Hhe mean {)ewwir&g t“q“mc’d c\ksb\\' bution 4 5o, Fimg tha

ey {
s | ou | e tora | 600 | g

sy i ot Sl St e ol o ik
i ¢

‘L\'Ee Hme PR T I o ,J

mhows) | 07100 | 100-200 | Joo-300 = o0-ypp | Yoo~ 500
E fa 2
r
N

;Nn.ﬁ' 5 | | Iy <& | 18

Codeudate ﬂne modaﬂ. &8& qu(wl)gé

Downloaded from www.studiestoday.com

— iting Y



y

5. % b mtg&wg{)loagﬁm&@mawwg@wgle@tedayacm of 2 cmc!a

f %aﬂ. !O \o_ 10-20 | 20-30 igo-x{g-‘{o SD|_5O £o IT“WZ 1

%{%u&n?%s 43 J_Oil"a‘jg'j ’ 5 'Go?i

. $25 Fem o Q‘W’nﬂﬂﬂ Hoq Vel table Kéli’fm Hhe '%O\Xmﬂin% cunmwlative )
{]’“‘l"*’w’zj Aobulbukien  and cdeudate the eam.

¢ (Lass | Baequenty b
Blow oo .
Below 150 "
Relow 200 . B
Bdow 7250 W
Below 300 125
- Below 350 |55
| Bdow Moo 111
‘ Below 450 LE!
Bellow 500 N 00
W Mok [ oo Swded
cibboge O ] 8o
~ Above 10 Wk
M0 [T
~ fAbow 30 -
Above 40 =
RApve S0 | B
- PBoue fO____________ 0 2B .- |
CBbove o | 15
Ptoe 80 | b
F\bwg_ ‘510 2 _ 8
(ﬁboue \00 | 6

Downloaded from www.studiestoday.com



6 Whish Rewnipaded,fiam iwwwstydigstoday.cam - wordinais of
\)Oi'n‘\“ 9% irde-ae cem ﬂﬁ e = mMoxe. ‘H’\O’n 9&1\)'&" m\d ﬁ'm thaom Eﬁ.WC-".? :

054~ Jhe ﬁm’u,u\ud dusbru b %i\m\ below showt 1he maks in mathematios
Blotaineg) b,«j 100 pudesits n o daw: th ,

M as 20—1‘1;30—&1 l:‘-['n_\{ti 550—53 60-@1!"}05[‘1 8o-8 | 0 =9
31 | U e vl I

Noof | g [xo 25 | |
Naaw 4he ofiued (both les #hom gmd e 4han) »%9}1, Hu  dutbuden
ond we it t deernime e 4 medion.

g -*_i%_e %&Qﬂwim& awe the ™okl ohtained by 50 studerh o stotishis:

o Ma Neo| sudert
10 motks . leyg Yt
o T
30 mosk ot lewg 30 x ;
L&O oL eﬁLL@. | 4o J
_50 movdu 1 [edd 4 {
£0 mosckr ot lew | 50 I

QWA o lus than eqive and Aﬁy‘«nd sut e medion. Ao | calewdede Hu
. meddam Bathe d@i@ JDwmen

Downloaded from www.studiestoday.com



	1
	2
	3
	4
	5
	6
	7
	8



